BAHS — () —©@ BMTER

K1 FENET D EMEORIT 1 FEMOE B
HAEOFEE M

FfE (k1. %2) BRI 1AM O5E s

Tkt

%

%

%

%

%

%

HIHEIHIEBIE|E|E

TE2AKDOTE L5

100%

D ERMNCIE, A AEYEE RS OMOEE S L MO EES 25
>< 2 HREXEOR LR OB EEEO R EL&IT, ThZhal L TRy s2 e

2 RE3IMHAMDE L&E ( B Ho~ dE )
FREEMOEAT 3 A5 L [a] M
BE2RORIT 3 AR O5E L& (bl M
# 3 il 3 A D H )58 bdr e R R ( R "o~ R )
FRE D FAL 3 7> AR O A KI5 b s % [A] %
BERERDFIT 3 72 A O A )58 b E RS R (A ] %
F 4 gl 37 A O RHE R O A 58 EErE 2RISR ( R Ho~ R 1)
FREEM DRI 3 7 H M ORI R 0 A SEEI58 s ER SR [B] %
RERIRD AT 3 7 H M OFTHE R 0 A SEEI58 s ER g =R [(B” ] %

(1) BRI 3IPLABOIREEED AVE TR L@ e EREEOR D F
[(B] — [A]
[B]
(2) FBoL3AMOEEREKD A F-H5E b & EF %R o R
[B'] — [A’]
[B’]
(3) wI3MNAMICBIT2EE2EOT LI EDDIEEEMOT LEOEE
[a]
(b]

X100 = % (NS AL T 2400 £20)

X100 = % (UNEKEE 2T #ET)

X100 = % (NS AL T 2400 ££0)

(7F) BEHFHIH->TE, FHEEMICBET2FELZHATHD ZLPHHTE 2EFEHE (FI2T, B HF->TnD
B - -2 TE 5FEH, FFRRARER L) . LRLOE L&A n o EFRE (Bl REERSE L

Bk L) ORHALE,

EREOEYFHEDH Y FHEA,
SEpl . A H

{ER; i

=t (BE)

REEA




